41. 95 B! U Ufda 7 A GTC BR | 168 WA 41. A is 16th from the left end in a row of boys
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UPSC 2020 N
(a) 40
M,

(c) 42 527
(d) i SifHst ir m fAuffya =8
f¥rar o W 81 £ -

ot

and V is 18th from the right end, G is 11th
from jo towards the right and 3rd from V

towardsy the right end) How many boys are
there in the row?

(a) 40

(b) 41

(c) 42

(d)Cannot be determined due to
insufficient data
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UPSC 2021
(a) N
(b) T
(c)H
(d) |

42. In the English alphabet, the first 4 letters

are written in opposite order and the next
Ahumg:\ewﬁnen in opposite order and
oX®

somu:,\andattheendvandZare

interchanged. Which will be the fourth

letter to the right of the 13th letter? ____
2D

PG

(a) N

(b)T

(cH

(d) 1
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e (WH.1-3):5 m%wmﬁaé?.l a9l Directions (Q.No. 1-3): 5 people standing in a
ﬁﬁwa@ﬁﬁaﬁm&iﬂrw AR aﬂﬂlﬁ%l row. On both the ends teacher and
gotd, faendt & Rl R @er g3l 2| 9@, businessman are standing. The lawyer stood
Y & T 3R 21 faemdf Rrare sk aFta right to the student. Author is on left to

FaA T | businessman. The student is in between teacher
‘ and lawyer.
W
gr B Gp ™ Fhe
1. 90 @ AP BT R " 1. What is the place of author from the left?
D W \ ATe0, 200K}

@uweam | | | \ | (a) First \l

L) TR | (b) Second

(c) =T (c) Third

(d) T (d) Fourth—~/



2. gfe 9P Ia 3R ATIRY U VI ATIH A 9¢d 2. If lawyer and businessman inter changed
Ad § YT @S 3R fFemdf oft 3ry= WU 3MUA their place and author and student also do the
# 9ga dd g, 79 fdendf & ufaee arlf 3R F19 same, then who will be on the immediate left of

E’I"’IT? the student?
(a) AED (a) Author
(b) ammﬁ/ (b) Businessman
(c) le&l’ﬁ' (c) Teacher

(d) THIS (d) Lawyer



3.3 H AP PAR P A H 2 3. Who is in the middle of the row?
(a) R1ar® (a) Teacher
(b) TP / (b) Lawyer
(c) faremdt (c) Student

(d) AATIRY (d) Businessman



F-ﬁ!l (U.9. 4-7): a a ﬂf PR & ATYR W faQ ¥ Directions (Q.No. 4-7): Answer the questions based on

st & IR D f = the information gfvén below.> |-
Ll l_ L] " E B

'"? - " m

3 In a premlses, locatl%of the offi c@ the six officers,

SRia A H A, B, C D, E Gh"\' FAW® ©: A&l & namely A, B, C, D, E and F is shown in the picture given
safaal Rufa U®h ﬂﬁ'ﬂ? ;| ﬁmﬁ rrg‘ %I B 3R C & above. The offices of B and C are on the right side of the
Frafay feraR | a'r§am t (a'ﬂ ﬁ ﬁ'ﬁ FIatay URAT H  corridor (As one enters office premises) and office of A is
mm%) WAWWMﬁWW%i on the left in the corridor. Offices of E and F are in the
Gﬂ{ F %m'WﬂQ ¥ faudla R 4 &1 ik - opposite directions to one another and also not facing
{[l'lﬁ it 78 §1 ¢ 3R D & Frafay smuA-am one another. The offices of C and D are facing one
FIATAT I W TEIBIA Hﬂm H F &1 $aag another. The office of E is not in a corner. The office of F
H 3y Bt 3R %, AP ' & 3R %I is inside in the corridor in comparison to A, but on the

same side.




4. 59 E U ST | TR Pt 3R Hg PIP 4.When A is sitting in his office facing corridor
431 8 A SHS a1% IR e sratay 82 then whose office is to his left?

(a) A

(b) B (a) A
(c) C\/ (b) B
(d) D. | () C

(d)D



5. A P PIATTT P A4 fPue safayg 2 5. Whose office is in front of A?

(a)B (a) B
(b) C (b) C
(c)D (c)D

\(gu/ (d) E



6. D ! fHl ¥ 98 Fed Y1 11 & MR F 6. D is heard to say someone to go to the last
IR T% IR ¥ JifdH SAITT 9% S| TE office inside on the right side. Whose office is

fFud rafay 3 3R Tdd B @182 he indicating?
(@) A (a) A
(bLB/ (b) B
(c) C (c) C

(d) F (d) F



7. F &1/ S USRI & 8/8? 7. Who is/are neighbours of F?
% A (a) Only A
(b) G 3R E (b) G and E
(c) Fad C (c) Only C

(d) B 3R C (d) Band C



Previous Year Questions



2. Fafafas w faar Fifve: 2. Consider the following:

A, B, C D,EF G3R HU® Ufag § 3ux ot ik A B, C, D,EF, Gand H are standing in a row facing
qE &Y @S €1 B. G BT YS! 781 21 F. G & 3w North. B is not neighbour of G.

2 3R E 31 TSI 21 G 3ifaw SR R 781 2 F is to the immediate right of G and neighbour of

AEPTAADSIEIH CHSA A DI £l E. G is not at the extreme end. A is sixth to the left
SiE ¥ I d, Pefif@a ¥ ¥ - us gt 82 of E. H is sixth to the right of C.
A C D GF 1[: Which one of the following is cg\rrectin respect of
@lardwader 3 th@ab@e? % D G f E ot
Bahvrmaﬁmu@'fh%l 4\ b Ao g Moat 2 o

Masmaﬁ%.

(a) C is to the immediate left of A.
f\ (b) D is immediate neighbour of B and F.
upsc-2017 () Gis to the immediate right of D.
(d) A and E are at the extreme ends.
UPSC-2017



4.A.B,C.D,E FIR G AT AR & ﬁ 4. Seven men, A, B, C, D, E, F and G are standing
ufed § @2 £, e fUg &7 $1 21dt uga &, & in a queue in that order. Each one is wearing a
4T, S, Stelt, g9, dielt, AR 3R @1 D cap of a different colour like violet, indigo,
YA 9HA g1 3R et 9t @ uran ‘?. U §H1 blue, green, yellow, orange and red. D is able to
&I el E ST 3R diell & 3 UTdr &, X @Td see in front of him green and blue, but not
P! T8l G AR Pl BIeHT AU T B fUTf 3@ violet. E can see violet and yellow, but not red.
H&dl g1 afe E ST T 3t Yt U §, a1 F B G can see caps of all colours other than orange.

z’rtﬁmmm%'z%‘%\ A - M ﬂ |6 E is wearing an indigo-coloured cap, then the
col

B o =
i
(a) A4 (27 ﬁ\
- I
(b) FTH LF ST
(c) AT — {\
(d) AT Gf P

UPSC-2013

our of the cap worn by F is
(a) Blue
(b) Violet
(c) Red
(d) Orange
UPSC-2013
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